Answers to Selected Problems

Chapter 11

11.1
AEC(10%) = $6,330

11.5
(a) $16,000

(b) $6,000

(c) AEC(15%) = $8,833
(d) AEC(15%) = $8,686
11.6
(a) $30,000
(b) Year 0: -$175,000; Year 1-7: $0; Year 8: $8,000
(c) AEC(12%) = $34,578
(d) Replace the defender.

11.10
Economic service life = 4 years, AEC(12%) = $27,158
11.13 
(a) AEC(12%)defender = $6,435, N*D = 2 years


(b) AEC(12%)challenger = $6,344, N*C = 10 years



(c) Replace the defender now.

11.16
AEC(12%)defender = $4,394.4
AEC(12%)challenger =$5,290.8, do not replace the defender for now.

11.21
AEC(12%)D = $28,619
AEC(12%)C = $38,260, Keep the defender.

.

11.27
At i = 10% and tax rate = 40%, the economic service life is 1 year with AEC(10%) = $8,520

11.33
AEC(10%)D = $102, AEC(10%)C = $54, Replace the defender.
